

Home Search Collections Journals About Contact us My IOPscience

Explicit solutions for some (2+1)-dimensional nonlinear evolution equations

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 2001 J. Phys. A: Math. Gen. 34 9653 (http://iopscience.iop.org/0305-4470/34/45/305)

View the table of contents for this issue, or go to the journal homepage for more

Download details: IP Address: 171.66.16.98 The article was downloaded on 02/06/2010 at 09:23

Please note that terms and conditions apply.

J. Phys. A: Math. Gen. 34 (2001) 9653-9661

PII: S0305-4470(01)26458-0

# **Explicit solutions for some (2 + 1)-dimensional nonlinear evolution equations**

## Xianguo Geng<sup>1,2</sup> and Xuemei Li<sup>2</sup>

<sup>1</sup> CCAST (World Laboratory), PO Box 8730, Beijing 100080, People's Republic of China <sup>2</sup> Department of Mathematics, Zhengzhou University, Zhengzhou, Henan 450052, People's Republic of China

Received 3 July 2001, in final form 10 September 2001 Published 2 November 2001 Online at stacks.iop.org/JPhysA/34/9653

#### Abstract

Some (2 + 1)-dimensional nonlinear evolution equations, including the Kadomtsev–Petviashvili II (KPII) equation and the modified Kadomtsev–Petviashvili (KP) equation, are decomposed into two (1+1)-dimensional soliton systems in the coupled KdV hierarchy. With the help of the decomposition and the Darboux transformation, some explicit solutions of these (2+1)-dimensional nonlinear evolution equations such as new soliton solutions of the KPII equation and the modified KP equation are obtained.

PACS numbers: 02.30.Ik, 02.30.Jr, 05.45.Yv

(Some figures in this article are in colour only in the electronic version)

The Kadomtsev–Petviashvili (KP) equation [1] is a ubiquitous nonlinear wave equation governing weakly nonlinear long waves in two dimensions with slow transverse variations and has also been proposed as a model for surface waves and internal waves in straits or channels of varying depth and width [1–4]. The KP equation is also the two-dimensional generalization of the KdV equation and was widely investigated. Most of the information about its solutions may be extracted from the Lax pair. Various systematic methods [5–14] have been developed to obtain exact solutions of the KP equation such as the inverse scattering transformation, the bilinear transformation of Hirota, the dressing method, the Bäcklund and Darboux transformations, the algebraic curve method and the nonlinearization approach of eigenvalue problems [15, 16]. Some important explicit solutions are found, including the N-soliton solution, the quasi-periodic solution, the rational solution and others.

In this paper, we shall study explicit solutions of (2 + 1)-dimensional nonlinear evolution equations

$$q_t = \frac{1}{4} \left( q_{xxx} + 12q q_x + 3\partial_x^{-1} q_{yy} \right)$$
(1)

$$q_t = q_{xxx} + 6qq_x - \frac{3}{4} \left[ q^{-1} q_x^2 - q^{-1} \left( \partial_x^{-1} q_y \right)^2 \right]_x$$
(2)

0305-4470/01/459653+09\$30.00 © 2001 IOP Publishing Ltd Printed in the UK 9653

(4)

and

$$r_t = \frac{1}{4} \left( r_{xxx} - 6r^2 r_x + 6r_x \partial_x^{-1} r_y + 3\partial_x^{-1} r_{yy} \right)$$
(3)

$$r_t = r_{xxx} - 6r^2r_x + 3rr_y + 3r_x\partial_x^{-1}r_y$$

$$r_t = \frac{1}{2} \left( -r_{xxx} + 6r^2 r_x - 6rr_y + 3\partial_x^{-1} r_{yy} \right)$$
(5)

$$r_t = -rr_y + r_x \partial_x^{-1} r_y + \partial_x^{-1} r_{yy} \tag{6}$$

$$r_t = \frac{1}{2} \left( r_{xxx} - 6r^2 r_x + 2rr_y + 4r_x \partial_x^{-1} r_y + \partial_x^{-1} r_{yy} \right)$$
(7)

where  $\partial_x^{-1}$  represents an inverse operator of  $\partial_x = \partial/\partial x$  with the condition  $\partial_x \partial_x^{-1} = \partial_x^{-1} \partial_x = 1$ , which can be defined as  $(\partial_x^{-1} f)(x) = \int_{-\infty}^x f(x') dx'$  under the decaying condition at infinity. Equations (1) and (3) are the famous Kadomtsev–Petviashvili II (KPII) equation and the mKP equation [17]. Here we shall give their new soliton solutions. It is very interesting that all the equations (3)–(7) are representable in a unified way

$$r_t = \frac{1}{\alpha + \beta} \left[ \left( \alpha - \frac{1}{2}\beta \right) r_{xxx} - 6 \left( \alpha - \frac{1}{2}\beta \right) r^2 r_x + 3(\alpha - \beta) rr_y + 3\alpha r_x \partial_x^{-1} r_y + \frac{3}{2}\beta \partial_x^{-1} r_{yy} \right]$$
(8)

with constants  $\alpha$  and  $\beta$ , which is a generalized (2 + 1)-dimensional mKdV equation. In fact, equation (8) is respectively reduced to (3)–(7) for  $\alpha = \beta$ ,  $\beta = 0$ ,  $\alpha = 0$ ,  $\alpha = \frac{1}{2}\beta$  and  $\alpha = 2\beta$ .

In what follows we outline the methods used here and give the main results. To decompose the (2+1)-dimensional equations (1)–(7) into (1+1)-dimensional soliton equations, we consider the first two systems of the coupled KdV hierarchy [18]

$$u_y = u_{xx} + 2uu_x + 2v_x$$
  

$$v_y = -v_{xx} + 2(uv)_x$$
(9)

and

$$u_{t} = u_{xxx} + (6uv + 3uu_{x} + u^{3})_{x}$$
  

$$v_{t} = v_{xxx} + (-3uv_{x} + 3v^{2} + 3u^{2}v)_{x}.$$
(10)

It is well known that equations (9) and (10) are compatible since the flows determined by them commute. We now assume that (u, v) is a compatible solution of (9) and (10), and introduce two functions q and r by

$$q(x, y, t) = v(x, y, t) \tag{11}$$

$$r(x, y, t) = u(x, y, t).$$
 (12)

From (9) and (10) we have

$$\partial_x^{-1} q_y = -v_x + 2uv$$
  

$$\frac{3}{4} \partial_x^{-1} q_{yy} - \frac{3}{4} q_{xxx} - 3qq_x = -3(uv_x)_x + 6uvu_x + 3u^2v_x$$
  

$$q_t - q_{xxx} - 6qq_x = -3(uv_x)_x + 6uvu_x + 3u^2v_x$$
(13)

which implies the KP equation (1). Equation (9) can be written as

$$u = \frac{1}{2}q^{-1}q_x + \frac{1}{2}q^{-1}\partial_x^{-1}q_y \tag{14}$$

$$v = -\frac{1}{2} \left( r_x + r^2 - \partial_x^{-1} r_y \right).$$
(15)

Substituting (14) into the first expression of (10) yields (2). Equations (3)–(7) can be obtained through elementary calculations. Therefore, we have the following assertion.

**Proposition 1.** Let (u, v) be a compatible solution of the (1+1)-dimensional soliton systems (9) and (10). Then the function q(x, y, t) determined by (11) solves the (2 + 1)-dimensional equations (1) and (2), the function r(x, y, t) by (12) solves any one of the (2 + 1)-dimensional equations (3)–(7).

Noticing (11), equation (15) reads

$$q = -\frac{1}{2} \left( r_x + r^2 - \partial_x^{-1} r_y \right)$$
(16)

by which a direct calculation shows that

$$q_{t} - \frac{1}{4} \left( q_{xxx} + 12qq_{x} + 3\partial_{x}^{-1}q_{yy} \right) \\ = -\frac{1}{2} \left( \partial_{x} + 2r - \partial_{x}^{-1}\partial_{y} \right) \left[ r_{t} - \frac{1}{4} \left( r_{xxx} - 6r^{2}r_{x} + 6r_{x}\partial_{x}^{-1}r_{y} + 3\partial_{x}^{-1}r_{yy} \right) \right].$$
(17)

This means that (16) is the Miura transformation between the KPII and mKP equations [17]. Here we obtain the Miura transformation in a simple way. In the following, we shall construct a Darboux transformation (DT) [8, 19–22] of (9) and (10). With the help of theorem 1, we give explicit solutions of the (2 + 1)-dimensional equations (1)–(7).

Equation (9) has the Lax representation [23]

$$\phi_x = U(u, v, \lambda)\phi \qquad U(u, v, \lambda) = \begin{pmatrix} -\frac{1}{2}\lambda + \frac{1}{2}u & -v \\ 1 & \frac{1}{2}\lambda - \frac{1}{2}u \end{pmatrix}$$
(18)

$$\phi_{y} = V^{(1)}(u, v, \lambda)\phi \qquad V^{(1)}(u, v, \lambda) = \begin{pmatrix} \frac{1}{2}(u_{x} + u^{2} - \lambda^{2}) & v_{x} - uv - \lambda v \\ \lambda + u & -\frac{1}{2}(u_{x} + u^{2} - \lambda^{2}) \end{pmatrix}$$
(19)

where u and v are two potentials and  $\lambda$  is a constant spectral parameter. Moreover, the Lax representation of (10) is the spectral problem (18) and the auxiliary problem

$$\phi_t = V^{(2)}(u, v, \lambda)\phi \qquad V^{(2)}(u, v, \lambda) = \begin{pmatrix} V_{11}^{(2)} & V_{12}^{(2)} \\ V_{21}^{(2)} & -V_{11}^{(2)} \end{pmatrix}$$
(20)

where

$$V_{11}^{(2)} = \frac{1}{2} \left( -\lambda^3 - 2\lambda v + u_{xx} + 3uu_x + u^3 + 2uv + 2v_x \right) V_{12}^{(2)} = -\lambda^2 v + \lambda (v_x - uv) - v_{xx} + u_x v + 2uv_x - u^2 v - 2v^2 V_{21}^{(2)} = \lambda^2 + \lambda u + u_x + u^2 + 2v.$$
(21)

In order to construct a DT of (9) and (10), we first derive a gauge transformation for the spectral problem (18). Here we use the method in [20, 21, 24] to construct the gauge transformation. To this end, we choose  $\varphi = (\varphi_1, \varphi_2)^T$ ,  $\psi = (\psi_1, \psi_2)^T$  to be two basic solutions of the spectral problem (18) and use  $(\varphi, \psi)$  to define a 2 × 2 matrix T by

$$T = \begin{pmatrix} A_1(\lambda + A_0) & B\\ C & A_1^{-1}(\lambda + D_0) \end{pmatrix}$$
(22)

with

$$A_{0} = \frac{\lambda_{1}\alpha_{2} - \lambda_{2}\alpha_{1}}{\alpha_{1} - \alpha_{2}} \qquad A_{1}^{2} = 1 + \frac{\alpha_{1}\alpha_{2}(\lambda_{2} - \lambda_{1})}{\alpha_{1} - \alpha_{2}}$$
$$B = \frac{A_{1}(\lambda_{2} - \lambda_{1})}{\alpha_{1} - \alpha_{2}} \qquad C = A_{1}^{-1} - A_{1} \qquad (23)$$
$$D_{0} = \frac{\lambda_{2}\alpha_{2} - \lambda_{1}\alpha_{1}}{\alpha_{1} - \alpha_{2}} \qquad \alpha_{j} = \frac{\varphi_{2}(\lambda_{j}) - \gamma_{j}\psi_{2}(\lambda_{j})}{\varphi_{1}(\lambda_{j}) - \gamma_{j}\psi_{1}(\lambda_{j})}$$

where parameters  $\lambda_j$  and  $\gamma_j$  ( $j = 1, 2; \lambda_1 \neq \lambda_2; \gamma_1 \neq \gamma_2$ ) are suitably chosen such that all the denominators in (22) and (23) are not zero. From (22) and (23) we have

$$\det T = (\lambda - \lambda_1)(\lambda - \lambda_2). \tag{24}$$

We now introduce a gauge transformation

$$\hat{\phi} = T\phi \tag{25}$$

which transforms the spectral problem (18) and the auxiliary problems (19) and (20) into a spectral problem of  $\hat{\phi}$ 

$$\hat{\phi}_x = \hat{U}\hat{\phi} \qquad \hat{U} = (T_x + TU)T^{-1} \tag{26}$$

and its auxiliary problems

$$\hat{\phi}_{y} = \hat{V}^{(1)}\hat{\phi}$$
  $\hat{V}^{(1)} = (T_{y} + TV^{(1)})T^{-1}$  (27)

$$\hat{\phi}_t = \hat{V}^{(2)}\hat{\phi} \qquad \hat{V}^{(2)} = (T_t + TV^{(2)})T^{-1}.$$
(28)

In a way similar to the proof in [24], we can verify the following fact.

**Proposition 2.** The matrices  $\hat{U}$ ,  $\hat{V}^{(1)}$  and  $\hat{V}^{(2)}$  determined by (26)–(28) have the same forms as U,  $V^{(1)}$  and  $V^{(2)}$ , that is

$$\hat{U} = U(\hat{u}, \hat{v}, \lambda) \qquad \hat{V}^{(1)} = V^{(1)}(\hat{u}, \hat{v}, \lambda) \qquad \hat{V}^{(2)} = V^{(2)}(\hat{u}, \hat{v}, \lambda)$$
(29)

where the transformation formulae from the old potentials u and v into new ones are given by

$$\hat{u} = u + \partial_x \ln A_1^2$$
  $\hat{v} = v A_1^2 - A_1 B.$  (30)

According to proposition 2, it is easy to see that equations (26) and (27) are also a Lax pair of the (1 + 1)-dimensional soliton equation (9), and equations (26) and (28) are another Lax pair of the (1 + 1)-dimensional soliton equation (10). The transformation (30) is usually called a DT of the (1 + 1)-dimensional soliton equations (9) and (10). We obtain immediately the following assertion.

**Proposition 3.** Let (u, v) be a solution of the (1+1)-dimensional soliton equations (9) and (10). Then (i) the function  $(\hat{u}, \hat{v})$  determined by the DT (30) is a new solution of equations (9) and (10); (ii) the function

$$\hat{q} = vA_1^2 - A_1B \tag{31}$$

solves the KPII equation (1) and the (2 + 1)-dimensional equation (2), and the function

$$\hat{r} = u + \partial_x \ln A_1^2 \tag{32}$$

solves the (2 + 1)-dimensional equations (3)-(7).

In the following, we shall apply the DT to give explicit solutions of the (2+1)-dimensional evolution equations (1) and (7).

(i) Substituting the trivial solutions, u = v = 0, of (9) and (10) into (18)–(20), their two basic solutions  $\varphi, \psi$  are chosen as

$$\varphi = \begin{pmatrix} 0\\1 \end{pmatrix} e^{\frac{1}{2}\lambda x + \frac{1}{2}\lambda^2 y + \frac{1}{2}\lambda^3 t}$$

$$\psi = \begin{pmatrix} -\lambda\\1 \end{pmatrix} e^{-\frac{1}{2}\lambda x - \frac{1}{2}\lambda^2 y - \frac{1}{2}\lambda^3 t}.$$
(33)

Noticing equation (23), we have

$$\alpha_j = \frac{1}{\gamma_j \lambda_j} e^{\omega_j} - \frac{1}{\lambda_j} \qquad j = 1, 2$$
(34)

$$A_{1}^{2} = 1 + \frac{(e^{\omega_{1}} - \gamma_{1})(e^{\omega_{2}} - \gamma_{2})}{a_{2}e^{\omega_{1}} + a_{1}e^{\omega_{2}} - \gamma_{1}\gamma_{2}}$$

$$A_{1}B = \frac{A_{1}^{2}\gamma_{1}\gamma_{2}\lambda_{1}\lambda_{2}}{a_{2}e^{\omega_{1}} + a_{1}e^{\omega_{2}} - \gamma_{1}\gamma_{2}}$$
(35)



Figure 1. (a)  $\hat{q}$  of t = 0 with  $\gamma_1 = -1000$ ,  $\gamma_2 = -0.01$ ,  $\lambda = 0.001$ ,  $\lambda_2 = -0.8$ . (b)  $\hat{q}$  of y = 0 and t = 0.

with

$$\omega_j = \lambda_j x + \lambda_j^2 y + \lambda_j^3 t \qquad j = 1, 2$$
  
$$a_1 = \frac{\gamma_1 \lambda_1}{\lambda_1 - \lambda_2} \qquad a_2 = \frac{\gamma_2 \lambda_2}{\lambda_2 - \lambda_1}.$$

Therefore, explicit solutions of the KPII equation (1) and the (2+1)-dimensional evolution equation (2) are obtained with the help of the DT (31) and (35):

$$\hat{q} = -\gamma_1 \gamma_2 \lambda_1 \lambda_2 \frac{e^{\omega_1 + \omega_2} + (a_2 - \gamma_2) e^{\omega_1} + (a_1 - \gamma_1) e^{\omega_2}}{(a_2 e^{\omega_1} + a_1 e^{\omega_2} - \gamma_1 \gamma_2)^2}.$$
(36)

It is easy to see that the function  $\hat{q}$  has no singularity for  $(\gamma_1, \gamma_2, \lambda_1, \lambda_2) \in \mathcal{A} \cup \mathcal{B}$ , where  $\mathcal{A}$  and  $\mathcal{B}$  are defined by

$$\begin{aligned} \mathcal{A} &= \{ (\gamma_1, \gamma_2, \lambda_1, \lambda_2) \in \mathbb{R}^4 \mid \gamma_1 < 0, \gamma_2 < 0, \gamma_1 \neq \gamma_2 \text{ and } \lambda_1 \lambda_2 < 0 \} \\ \mathcal{B} &= \{ (\gamma_1, \gamma_2, \lambda_1, \lambda_2) \in \mathbb{R}^4 \mid \gamma_1 > 0, \gamma_2 < 0, \lambda_1 > \lambda_2 > 0 \\ \text{or } \gamma_1 < 0, \gamma_2 > 0, \lambda_2 < \lambda_1 < 0 \}. \end{aligned}$$

For given parameters  $\gamma_1$ ,  $\gamma_2$ ,  $\lambda_1$ ,  $\lambda_2$ , (36) determines an exact solution of the (2 + 1)dimensional evolution equations (1) and (2). If different parameters are chosen, the



Figure 2. (a)  $\hat{q}$  of t = 0 with  $\gamma_1 = 0.02$ ,  $\gamma_2 = -0.01$ ,  $\lambda_1 = 1.5$ ,  $\lambda_2 = 0.8$ . (b)  $\hat{q}$  of x = 0 and t = 0.

solution determined by (36) may be of different properties. For example, when  $\gamma_1 = -1000$ ,  $\gamma_2 = -0.01$ ,  $\lambda_1 = 0.001$ ,  $\lambda_2 = -0.8$ , the function (36) is a one-soliton solution of the KPII equation (1) and the (2 + 1)-dimensional evolution equation (2) (see figures 1(*a*) and (*b*)), which is not same as those in [5, 6, 8–12, 14, 25] and [26]. When  $\gamma_1 = 0.02$ ,  $\gamma_2 = -0.01$ ,  $\lambda_1 = 1.5$ ,  $\lambda_2 = 0.8$ , the function (36) gives a two-soliton solution of the KPII equation (1) and the (2 + 1)-dimensional evolution equation (2) (see figures 2(*a*) and (*b*)).

By using the DT (32), we arrive at explicit solutions of the mKP equation (3) and the (2 + 1)-dimensional evolution equations (4)–(7)

$$\hat{r} = \frac{(\lambda_1 + \lambda_2)e^{\omega_1 + \omega_2} + \lambda_1(a_2 - \gamma_2)e^{\omega_1} + \lambda_2(a_1 - \gamma_1)e^{\omega_2}}{e^{\omega_1 + \omega_2} + (a_2 - \gamma_2)e^{\omega_1} + (a_1 - \gamma_1)e^{\omega_2}} - \frac{\lambda_1 a_2 e^{\omega_1} + \lambda_2 a_1 e^{\omega_2}}{a_2 e^{\omega_1} + a_1 e^{\omega_2} - \gamma_1 \gamma_2}.$$
(37)

Obviously, the function  $\hat{r}$  has no singularity for  $(\gamma_1, \gamma_2, \lambda_1, \lambda_2) \in \mathcal{A} \cup \mathcal{B}$ . If the parameters  $\gamma_1 = 100, \gamma_2 = -100, \lambda_1 = 1, \lambda_2 = 0.1$ , the function (37) is a one-soliton solution of the mKP equation (3), which is not same as those in [27–31], and the (2 + 1)-dimensional evolution equations (4)–(7) (see figures 3(*a*) and (*b*)). For the parameters  $\gamma_1 = 100, \gamma_2 = -0.1, \lambda_1 = 10, \lambda_2 = 9$ , the function (37) describes a phenomenon (see figures 4(*a*) and (*b*)). Here a general method to choose the parameters is to guarantee that



**Figure 3.** (*a*)  $\hat{r}$  of t = 0 with  $\gamma_1 = 10$ ,  $\gamma_2 = -0.1$ ,  $\lambda_1 = 1.3$ ,  $\lambda_2 = 0.01$ . (*b*)  $\hat{r}$  of y = 0 and t = 0.

the denominator in (36) or (37) is not zero, that is,  $(\gamma_1, \gamma_2, \lambda_1, \lambda_2) \in \mathcal{A} \cup \mathcal{B}$ . Then the properties of solutions are compared for various choices of parameters.

(ii) It is obvious that u = 0 and v = -1 are also solutions of (9) and (10). Substituting into (18)–(20) yields two basic solutions

$$\varphi = \begin{pmatrix} -\frac{1}{2}(\lambda - \sqrt{\lambda^2 + 4}) \\ 1 \end{pmatrix} e^{\frac{1}{2}\sqrt{\lambda^2 + 4}[x + \lambda y + (\lambda^2 - 2)t]}$$

$$\psi = \begin{pmatrix} -\frac{1}{2}(\lambda + \sqrt{\lambda^2 + 4}) \\ 1 \end{pmatrix} e^{-\frac{1}{2}\sqrt{\lambda^2 + 4}[x + \lambda y + (\lambda^2 - 2)t]}.$$
(38)

Using equation (23), we have

$$\alpha_j = \frac{e^{w_j} - \gamma_j}{\mu_j e^{w_j} + \kappa_j \gamma_j} \qquad j = 1, 2$$
(39)

$$A_{1}^{2} = 1 + \frac{(e^{w_{1}} - \gamma_{1})(e^{w_{2}} - \gamma_{2})}{b_{1}e^{w_{1}+w_{2}} + b_{2}e^{w_{1}} + b_{3}e^{w_{2}} + b_{4}}$$

$$A_{1}B = \frac{A_{1}^{2}(\mu_{1}e^{w_{1}} + \kappa_{1}\gamma_{1})(\mu_{2}e^{w_{2}} + \kappa_{2}\gamma_{2})}{b_{1}e^{w_{1}+w_{2}} + b_{2}e^{w_{1}} + b_{3}e^{w_{2}} + b_{4}}$$
(40)



**Figure 4.** (*a*)  $\hat{r}$  of t = 4 with  $\gamma_1 = 100$ ,  $\gamma_2 = -0.1$ ,  $\lambda_1 = 10$ ,  $\lambda_2 = 9$ . (*b*)  $\hat{r}$  of x = 0 and t = 4.

with

$$w_{j} = v_{j}[x + \lambda_{j}y + (\lambda_{j}^{2} - 2)t] \qquad v_{j} = \sqrt{\lambda_{j}^{2} + 4}$$

$$\mu_{j} = \frac{1}{2}(v_{j} - \lambda_{j}) \qquad \kappa_{j} = \frac{1}{2}(v_{j} + \lambda_{j}) \qquad j = 1, 2,$$

$$b_{1} = \frac{\mu_{1} - \mu_{2}}{\lambda_{1} - \lambda_{2}} \qquad b_{2} = -\frac{\gamma_{2}(\mu_{1} + \kappa_{2})}{\lambda_{1} - \lambda_{2}}$$

$$b_{3} = \frac{\gamma_{1}(\mu_{2} + \kappa_{1})}{\lambda_{1} - \lambda_{2}} \qquad b_{4} = -\frac{\gamma_{1}\gamma_{2}(\kappa_{1} - \kappa_{2})}{\lambda_{1} - \lambda_{2}}.$$
(41)

Thus, using the DT (31), equations (40) and (41), we obtain explicit solutions of the KPII equation (1) and the (2 + 1)-dimensional equation (2)

$$\hat{q} = -1 - \frac{(\mu_1 e^{w_1} + \kappa_1 \gamma_1) (\mu_2 e^{w_2} + \kappa_2 \gamma_2) + (e^{w_1} - \gamma_1) (e^{w_2} - \gamma_2)}{b_1 e^{w_1 + w_2} + b_2 e^{w_1} + b_3 e^{w_2} + b_4} - \frac{(\mu_1 e^{w_1} + \kappa_1 \gamma_1) (\mu_2 e^{w_2} + \kappa_2 \gamma_2) (e^{w_1} - \gamma_1) (e^{w_2} - \gamma_2)}{(b_1 e^{w_1 + w_2} + b_2 e^{w_1} + b_3 e^{w_2} + b_4)^2}.$$
(42)

Resorting to the DT (32) and (40), we have

$$\hat{r} = \frac{(\nu_1 + \nu_2)(1 + b_1)e^{w_1 + w_2} + \nu_1(b_2 - \gamma_2)e^{w_1} + \nu_2(b_3 - \gamma_1)e^{w_2}}{(1 + b_1)e^{w_1 + w_2} + (b_2 - \gamma_2)e^{w_1} + (b_3 - \gamma_1)e^{w_2} + b_4 + \gamma_1\gamma_2} - \frac{b_1(\nu_1 + \nu_2)e^{w_1 + w_2} + \nu_1b_2e^{w_1} + \nu_2b_3e^{w_2}}{b_1e^{w_1 + w_2} + b_2e^{w_1} + b_3e^{w_2} + b_4}$$
(43)

which are also explicit solutions of the mKP equation (3) and the (2 + 1)-dimensional evolution equations (4)–(7).

### Acknowledgments

Project 10071075 was supported by National Natural Science Foundation of China. This work was supported by the Special Funds for Major State Basic Research Projects and Henan Natural Science Foundation.

## References

- [1] Kadomtsev B B and Petviashvili V I 1970 Sov. Phys.-Dokl. 15 539
- [2] Santini P M 1981 Lett. Nuovo Cimento 30 236
- [3] David D, Levi D and Winternitz P 1987 Stud. Appl. Math. 76 133
- [4] David D, Levi D and Winternitz P 1989 Stud. Appl. Math. 80 1
- [5] Ablowitz M J and Clarkson P A 1991 Solitons, Nonlinear Evolution Equations and Inverse Scattering (Cambridge: Cambridge University Press)
- [6] Novikov S P, Manakov S V, Pitaevskii L P and Zakharov V E 1984 Theory of Solitons, the Inverse Scattering Methods (New York: Consultants Bureau)
- [7] Matsuno Y 1984 Bilinear Transformation Method (New York: Academic)
- [8] Matveev V B and Salle M A 1991 Darboux Transformations and Solitons (Berlin: Springer)
- Belokolos E D, Bobenko A I, Enol'skii V Z, Its A R and Matveev V B 1994 Algebro-Geometric Approach to Nonlinear Integrable Equations (Berlin: Springer)
- [10] Satsuma J 1976 J. Phys. Soc. Japan 40 286
- [11] Manakov S V, Zakharov V E, Bordag L A, Its A R and Matveev V B 1977 Phys. Lett. A 63 205
- [12] Satsuma J and Ablowitz M J 1979 J. Math. Phys. 20 1496
- [13] Konopelchenko B G, Sidorenko J and Strampp W 1991 Phys. Lett. A 157 17
- [14] Cheng Y and Li Y S 1991 Phys. Lett. A 157 22
- [15] Cao C W, Wu Y T and Geng X G 1999 J. Math. Phys. 40 3948
- [16] Cao C W, Geng X G and Wu Y T 1999 J. Phys. A: Math. Gen. 32 8059
- [17] Konopelchenko B G and Dubrovsky V G 1984 Phys. Lett. A 102 15
- [18] Levi D, Sym A and Wojciechowsk S 1983 J. Phys. A: Math. Gen. 16 2423
- [19] Levi D 1988 Inverse Problems 4 165
- [20] Gu C H and Zhou Z X 1994 Lett. Math. Phys. 32 1
- [21] Li Y S 1996 J. Phys. A: Math. Gen. 29 4187
- [22] Gu C H, Hu H S and Zhou Z X 1999 Darboux Transformation in Soliton Theory and its Geometric Applications (Shanghai: Science and Technology)
- [23] Cao C W and Geng X G 1990 J. Phys. A: Math. Gen. 23 4117
- [24] Geng X G and Tam H W 1999 J. Phys. Soc. Japan 68 1508
- [25] Prinari B 2000 Inverse Problems 16 589
- [26] Boiti M, Pempinelli F, Pogrebkov A K and Prinari B 2001 Inverse Problems 17 937
- [27] Konopelchenko B G 1993 Solitons in Multidimensions, Inverse Spectral Transform Method (Singapore: World Scientific)
- [28] Geng X G 1990 Chin. Ann. Math. Ser. A 11 265
- [29] Konopelchenko B G and Dubrovsky V G 1992 Stud. Appl. Math. 86 219
- [30] Gesztesy F, Holden H, Saab E and Simon B 1991 J. Funct. Anal. 98 211
- [31] Geng X G, Wu Y T and Cao C W 1999 J. Phys. A: Math. Gen. 32 3733